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PSYCHOLOGY
Paper II

HAHAIMHA
P9aeRT 11

Time Allowed : 2 Hours] [Maximum Marks : 200
Note : This Question Paper contains Hundred (100) multiple choice questions.
Each question carries Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)
U TR, |E TR Hiedl

1. According to Tolman, types of | 1. T IR, A=FAN T WhR 3T :

learning are :
¢ (A) TIMAEREE Ao fReTomen 31ede

(A) Place and observation learning

(B) TIATEHEA A0 ST e
(B) Place and response learning
C) frieromcass s1ezrea enfor siemeaen
(C) Observational and cognitive © ‘ ‘

learning d

(D) Sign and solution learning (D) Tehd TEFFA MV RIS AT

2. Which one of the following is true | 2. <& favcoomEE! GTeAtedeh! IV T

for factor analysis ? AR ?

(A) Tt requires correlations among (A) UfEdes™med Heday STaSfee ARl
variables as identify matrix U AEYIS e

(B) Varimax is used for factor (B) SRIHeRT= TR seeh Feehuiemel shel
extraction STy

(C) Promax is oblique method (C) T feE Tmd em

(D) SEM-CFA can not be used in D) T3 T - T T T e ST

IS a9l S 9Tohd ATal
3 [P.T.O.

hypothesis testing




Item response theory is based on the

following assumptions :

I : Unidimensional nature of the

test.

IT : Varying ability level of
respondents.

Codes :

(A) T only

(B) II only

(C) T and II both

(D) Neither I nor II

Which two sub-tests of differential
aptitude test (DAT) contribute to the

index of scholastic aptitude ?

(1) Verbal Reasoning

(2) Perceptual speed and accuracy
(3) Numerical reasoning

(4) Language usage

Codes :

(A) Only (1) and (4)

(B) Only (2) and (4)

(C) Only (1) and (3)

(D) Only (2) and (3)
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farg erfsran fegia = TEiqepteR emia
T

[ JEUE TH9Y WEy.

II. TfEcehm! seeid SO &l dies!.
Hehdich :

(A) w1

(B) wed 11

(C) I amfor II et

(D) I smfor II =t Tk & et

T T I SO S SUETHUE

regforen srfyyermar fevres weuay Hed
HLAE ?

(1) vnfegeh Tfohemeraa

(2) THT=geTE Tt Sfur SYegTEt
(3) 3fifher afohemarean

(4) o1 ST

Hehdieh :

(A) (1) 3Tl (4) ®ed

(B) (2) 7o (4) e
(C) (1) =7for (3) wed
(D) (2) 37for (3) e




Match the following Reasons
(List-I) with Descriptions (List-II) :

List I
(Reasons)
(P) Encoding failure
(Q Decay or disuse
(R) Proactive interference
(S) Retroactive interference
List II
(Descriptions)

(1) Newer information interferes
with the retrieval of older

information

(2) Older information already in
memory interferes with the
learning of newer information

(3) The information is not attended
to

(4) Information that is not accessed

from storage system over time
Codes :
P Q R O
Aa O @2 @ @
B & @ @ @
©C @ @ @O @
M @2 @O @ @

SEP - 13221/11—A
It I (Teh) ST AT 1T (FoiF) Armete

Sired @@l 9 Jeld Hehdlhr=Al STER
3l ©l e

EICU |
(<feh)
(P) Hehad STTI
(Q =/ TRETR
(R) Swrasft e
(S) qaah flem
et 11
(i)

(1) 79 #Arfedt Sp=a1 Arfgdr=an
AT ST S0

(2) T mifedt St Sgdia TR o e
Hifed A1 STEIAA AT AU

(3) wifedt W e/ el

(4) wfedt S WSav Hokdd 3T ot
Y Rl Id AL

Hehdich :

P) @ @R )
@ Q1 @2 @ @
B) 3 @ @ @)
€ @ B @O @
M @2 O @ 3

[P.T.O.



Information enters into short-term
memory through a process is known
: 1T

(A) Recency effect

(B) Primacy effect

(C) Selective attention

(D) Repetition

Long-term potentiation is mainly
mediated by :

(A) Acetylcholine

(B) Serotonin

(C) Dopamine

(D) Glutamate

Which of the following are true of
the Mayer-Salovey-Caruso
Emotional Intelligence Test
(MSCEIT)?

(1) It consists of eight tasks,
including two tasks for each
branch of the EI model

(2) MSCEIT correlates moderately
with verbal intelligence

(3) MSCEIT correlates highly with
Big-Five personality dimensions
of Openness and Agreeableness

(4) It is based on traits model of EI
and can be measured by Likert-
scale

Codes :

(A) (1) only

(B) (1) and (2) only

(C) (2) and (4) only

(D) (1), (2) and (3) only
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TIfedt € Siegl STeUhRIele TIATHES T
W Ela'QT m qu .............. 3]@
el S,

(A) Ry TR

(B) 37d 9fomH

(C) frae=® s@u™

(D) ATt

TR fava ' I B

(A) THfeTRIe

(B) SRR

(C) S

(D) e

IR -HTcllog - hT&dl  Wafh TG HT

IO (THTEEESTIE) e Seiieriehl

I e 3T 7

(1) <Id TR 373 T HEY AR,
39T (EI) WUl Iieh
TH HEET GHOY 3R

(2) wnfgsh FEHUReR TH TH o 3
3™ <1 (MSCEIT) =1 H1%eh JHTONA
Teqay e

(3) U=sesh ufaqucea gfifadi=a
HATHATET HaEd TITRTT AT
TRHAIEYIhdal TH TH o ¥ Eleicl
(MSCEIT) =1 3=d JHIUd g9
e

(4) =1 (EI) TUifoRie JrEde] §
ST SR ST FAHhe—HIIAIGR
= A B

Hehdiah :

(A) ®H (1)

(B) Wl (1) =fur (2)

(C) el (2) Mol (4)

(D) W (1), (2) AT (3)




10.

Relieving traumatic emotional
experiences by performing some

physical activities is called as :
(A) Compromise formation

(B) Counter-transference

(C) Catharsis

(D) Cathexes

Which of the following are the types

of randomness by Boden ?

(1) A-randomness : absence of

order

(2) E-randomness lack of

explanation or cause

(3) R-randomness : lack of any
order relative to some specific
consideration which does not

imply indeterminism
Codes :

(A) (1) and (2) only

(B) (1), (2) and (3)

(C) (1) and (3) only

(D) (1) only

10.

SEP - 13221/I1—A

FTEl IMRIReh Hlidl 1A HEA STETST
qrafieh 3T SEOATETSt a1 SUARTd

(A) TSSE TSI
(B) wiasmaraTor
(C) wafa=r
(D) TEhgH

eI HATJaR SIeierdeh] Shiodl FehRR

B SAIdden e ?
: AT STUfeerdt

FHITTT

(1) A-3faa

(2) E-tfaaqdn fwarn

TISEI RO HHALT

(8) R-31dar ; wret fafyrse fommde

HTYeTd: ShIVCATE! ShHTS! HHALdT hi

St stfafdere gafad @l
Hehdieh :
(A) ®e (1) enfor (2)
(B) (1), (2) @i (3)
(C) ek (1) efor (3)

(D) ® (1)

[P.T.O.



11.

12.

13.

Which of the following is a correct

statement about needs and wants ?

(A) needs trigger drives, and wants

trigger incentives

(B)

needs trigger incentives, and

wants trigger drives

(C) needs trigger rewards, and

wants trigger punishment

(D) needs trigger satisfaction, and

wants trigger desire

Ramesh was not interested to join
a party but due to peer pressure he
went there with unwillingness, his
emotional discomfort in

psychological terms can be

conceptulized as ...................... .

(A) Unhappy due to peer pressure
(B) Cognitive dissonance

(C) Emotional instability

(D) Conflict resolution

The Towers of Hanoi problem can
be best solved by using which of the

problem-solving methods ?

(A) Working Backward

(B) Means—Ends analysis

(C) Generate-and-Test Technique
(D) Backtracking

11.

12.

13.

SEP - 13221/11—A

TTetedeh! HIod faem s 2fo
YEIGAR Hefid ek T ?

(A) TRST JeigAel el qdrd, 3

11 I e R | O 1 g e L RS |

(B) RS Wel9ATell STl odrd, ST
galGAl TSIl =Tl Qdld

(C) TR WA =TT <ard, ST
TR fgen = <aa

(D) TS FHIYEN™E Il odrd, ST
P | T | [ b | IR |

THITAT TSI STuamen S1fSTeTd 5531 oadl
U7 TNl SaRAT SAEes O AR
AT, AT e f-eh STHAISTE 3907 3/
ﬁﬁﬁq\ -

(A) TEMHS gl

(B) fogaret sty

(C) Yrafeh 3TfEea

(D) Toe fadeq

hIUTT THET TR l‘l:&\'lﬂl"ill STUH SHHN]

FHEA FAEA IE THER R &L
Jq ?

(A) wfamHt swm

(B) wre-wieA fagerso
(C) frmfor smfor =meoh o=
(D) Sfergfer




14. Match List I with List IT and select

the correct answer using the codes

given below :

List I

(Type of Phobia)

(P) Acrophobia
(Q) Agoraphobia
(R) Claustrophobia
(S) Hemophobia

List II

(Description)

(1) Fear of confined spaces
(2) Fear of heights
(3) Fear of blood

(4) Fear of public spaces and

crowds
Codes :

P Q R O
@Aa @ @ @© 3
B) 1 @ @ @
©C @ @ @ @
M B 1 @ @
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14. 3t 1 nfor ISt 11 amefie Sire=n e

@elt oo Hhdiehr=al STAN Hed

e Il e w4 e

et 1
(VST UhW)

(P) TshIwifea

(Q) STIrwIfe=n

(R) FATZIRIfe=

(S) H®IfeE
aret 11
(arui)

(1) &% fowmma =

(2) == W

(3) TN W

(4) TR SEE 9=

Hehdich :

P) Q @R )
A 2 @ @O B
B @O @ B @
< @ 3 @ @
D 3 1 @ @

[P.T.O.



15.

16.

‘Mandalas’ according to Jung’s
theory represents :

(A)

(B)

(®)

(D)

Synthesis of opposites within
the psyche

Synthesis of similarities within
the psyche

Transcendence of collective
experiences

Anaysis of dreams

Match List I with List II and select
the correct answer using the codes
given below :

List I

(Dissociative disorder)

(P)
Q)
(R)
(S)

(1)

2)
(3)
4)

Fugue
Amnesia
Depersonalization
Derealization
List II
(Description)

Thoughts and feelings seem
unreal

Amnesia for personal identity
Surroundings seem unreal

Memory deficit

Codes :

P Q@ ® ©)

@ @1 2 @ @
B 3 1 @ @
© @ 3 @ @
D 2 @ @O O

15.

16.

SEP - 13221/11—A

A FHGTATaR ‘Heals' Yot & 2=

ot geifed

(A) AT A faeg Tseie H9ers o
(B) WG WA THMAT T FYeTso]
(C) WHfesh STgvare STqilchehea

(D) e fageroo

et 1 smfor At 11 amefie sirean .
el feeiedl Fehdral ST hed 3T
IwWEl fag &3 e

RICi |
(feraitsr ferepett)
(P) T
(Q THifern
I BCEIREENIRENE
(S) EiReTamENT
It 11
(aui)
(1) TR g 9@ Eedl 9T
(2) T fowr ged
(3) “fiadral el wEdl
(4) foogdt 2@
Hehdich :

P) @ @) S
A @O @ 6 @
B 3 1 @ @
€ @ & @ @
D 2 @ @O G

10



17.

18.

19.

20.

UDID S .uvvieeeeeeciiieeeeees .

(A) Unique Disability ID

(B) Name of an organization

(C) Represents Intellectual
Disability

(D) Unique Disorder Identification
Device

Minorities and Racials are often put

into the ................... by conflict

theorists.

(A) Split Labour class
(B) Primary labour class
(C) Territory labour class
(D) Labour class

Socratic style in rational emotive
behaviour therapy uses :

(A) Imagery to deal with fear
(B) Philosophy to deal with anger
(C) Questions to promote reasoning

(D) Deep breathing to promote
confidence

Which of the following best describes
the concept of resilience given by Riff
and Singer ?

(A) Maintenance, recovery or
improvement in mental or
physical health

(B) The dangers of blaming the
victim
(C) Sources of resilience in children

(D) Cognitive and emotional self-
regulation skills

17.

18.

19.

20.
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SIS TS
(A) foreteror srgma el

(B) H¥eAd @

(C) dfew Aamaa wfafafue

(D) forereron srerHar dererieheor et

gos fagiaeri=t STeqdEEITh ST

(A) fawifsa swmR =i
(B) WufHeh HEFR o
(C) U3 HMAIR =
(D) SR &R

WHA gHIfCes adeh SR dishicsh
it 7T AR B

(A) it FrTesvarEEr TfaHRrsT

(B) Hd¥ BAesvaEES! dwa=™

(C) gferiarE deaudehidl Y9
(D) STIcHATSYaTY ST@aUaTeh{dl < re Yerd

e enfor fgmx At feden

frafEeTIehweT= HeheaIaR Tefeieh]

HIUT ITH T TUH AR 2

(A) TEIE, gAUTw fehar AMfEw @
TR SRS e

(B) JSRERIUET e fohar &

(C) sTeTehmtel Tefaemaeshar=l e

(D) SNeTcHE ST v T-TTamE
ST

11

[P.T.O.



21.

22.

23.

Maslow’s concept of Meta-Motivation
is very much similar to the concept
of :

(A) Siddhi
(B) Bhakti
(C) Nishkama karma
(D) Moksha

The sacred books of Buddhism are
called :

(A) Triratnas
(B) Angas
(C) Jatakas
(D) Tripitakas

Matching of subjects in research
design could be a failure except

in situation :

(A) When matching is performed

with randomization

(B) Equal distribution of males and
females in different treatment

conditions
©)
(D)

Repeated measures design

Matching variable having
substantial correlation with the
DV

21.

22.

23.

SEP - 13221/11—A

el A AY-ITON Hehed 1 & EOd
T SO Hehed 1 3T ¢

A) fast
(B) vt
(C) T =+

(D) =&
dig et ufes YU e ®on
(A) PR
(B) 3fm®
(C) e

D) fafaes

TIMEA STRIEEdd Y™ STTEUTHI

(A) IR TR sIeR STTEYIHL

el SId

(B) i oTfol g&s W= SFTorTe
T HHE ool

(C) YU HIUH STREE]

(D) TEdFHd gfadsrar sTaafad

qRadehR AT FeEaY STl

12



24. Which of the following statements

25.

is/are true about the criterion

referenced test ?

(D

(ID

(A)
(B)
(C)

(D)

It makes the comparative
evaluation of individual’s
performance with the

predetermined standard.

It compares individual’s
performance with normative

performance.

(I) only

(II) only

Both (I) and (II)

Neither (I) nor (II)

In an item analysis which P value

will bring maximum differentiation

in respondents ?

(A)
(B)
(C)

(D)

0.25

0.50

0.75

0.95

24.

25.

SEP - 13221/I1—A

WATTUsh! ShIv/Iorl fasm/faum §

ere ot STl Sedid 9o 3 ?

I @ =afeama FedamETr gEfaRs

AehTHE JoTTcHeh JedHTa .

(I1) <t Safaes e yTfor e
SSRINERGIH

(A) () wed

(B) (II) %

(C) (D) smfor (IT) <t

(D) (1) afor (1) =T & e

farer fergerson st oM P () ge
I UIHE SouH Wed w2

(A) 0.25
(B) 0.50
(C) 0.75

D) 0.95

13

[P.T.O.



26.

27.

Which of the alternatives is correct
for the following “Assertion and
Reasoning statements” ?

of the

standard scores are

Assertion (A): Some

positive and some

are negative.
Reason (R) : Standard scores
are usually trans-
formed into linear
form with a new
and SD

of

mean
values
convenience.
Codes :
(A) (A) is true and (R) is also true,
but (R) is not the correct reason
of (A)
(B) (A) is true and (R) is also true,
and (R) is the correct reason
of (A)
(C) (A) is false and (R) is true
(D) (A) is true and (R) is false
In Hermann Ebbinghaus’s classic
study on memory and forgetting in
which time span after learning the
lists does most forgetting happen ?
(A) Immediately after learning
(B) After one hour
(C) After five hours

(D) After nine hours

26.

27.

SEP - 13221/11—A

a9 (A) 2701 R (R) A1 faamAmER Y

@il M se AR ?

g™ (A) : R TS Uik ¥9 @

el RO STHAI.

HRUT (R) : 950 dood W-EE i
¥ HRIER 7 qemE 9

g fagaq g% W

Tgd gRiEd .
Hehdich :
(A) (A) & 2 A0 (R) 51 FA

3 g (R) T (A) = SR&X SR
e

(B) (A) 9 3¢ 3T (R) 51 9
38 M (R) ® (A) < SR KR
e

(C) (A) g™ T = (R) 9 3T
D) (A) T 3T 370 (R) 31T 3R

BT WSlTRIg=A Wt 9 oo
AT ATHTIATO fohet HTATAE T
AT T &I YHONG  fereHor
ued ?

(A) IATIAFT qThles

(B) Teh! A&

(C) 9E dEM@

(D) T qEHETR

14



29.

.................. memory includes what
people can do or demonstrate,
whereas .................... memory is about
what people know and can report.

(A) Non-declarative; Declarative
(B) Declarative, Non-declarative
(C) Semantic; Procedural

(D) Episodic; Semantic

Match List I with List IT and select
the correct answer using the codes
given below :

List I
(Syndrome)
(P) Frontal amotivation
(Q) Parkinson’s disease
(R) Left motor cortical stroke

(S) Limbic and
malfunction

List II

(Emotional expression)
(1)
(2)
3)
4)
Codes :
(P)

(A) 4
(B) (3)
€ @
D) D)

subcortical

No spontaneous smile
No wilful social smile
Masklike face
Indifference and apathy

(R)
(2)
(1
(4)
3)

(S)
(1)
(4)
3)
(2)

Q
3)
(2)
(1)
(4)

29.

SEP - 13221/I1—A

Tl HE HE Iohd Tl

GfaIe Shidld § a1 Tt STaid ad. %
................. jSﬂ @_ qu»\'ﬁcl'“ ch|¢| leﬁq’\l

3 SN0 H WR] Iehd ATAEd 3T,

(A) 1feETH®, e

(B) fHogarcqen, 21feg-rcae

(C) AYR, Tharms

(D) =T, IR

AT 1 =717 3et 11 Aarmefa Sireen .

Tt fooedn Hehdrral ITERT hEd
e Il e w4 e

Tret 1

(TeTgrom)
(P) SWEE™ 37T AYE
(Q wfsTa=g A

(R) ST %Rk YHRShHIET ST

(S) Tl 9 AYERE STIwE
It 11

(vmafer Tfirsrer)

el o= S4E

(1)

(2) oo WA o= AuE
(3) HEEIEH e
(4) TSI & ST
Hehdlah :
P) Q@ @® ()
A @ 8 @ @
B 3 @2 @O @
© @ 1 @ 3
O 1 @D 3 @

15

[P.T.O.
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30. Match List I (Schedule) with List IT | 30. =<t I (eTgg=t) & amt II (aRom)

(Effect) and select the correct answer

using codes given below :

List I
(Schedule)

(P) Fixed ratio

(Q) Variable ratio

(R) Fixed interval

(S) Variable interval
List II
(Effect)

(1) Response rate is slow but

regular

(2) Response rate is fast and

regular

(3) Response rate is regular and
high

(4) Response rate drop first but

increase near end
Codes :

P Q@ ® ©)
A 3 @O 2 @
B) @2 @B @ @
e o @ @ @
D @ @O @2 O

S[ead Well fGeledl Fehdlhldrial Saxr

qra qatg et
Tt 1
(3rg=)
(P) feer TUiRR
(Q TRe ol
(R) e Shremiadt
(S) uRac wrenad]
et 11
(aftuTm™)
(1) wfafsean < |y enfor fafia swd
(2) widfshan X Sefg Sfor fafHa s
(3) wfdfshan g fafHe oo S== 31¥al

(4) Ffaferar X Framien el T
HOAHT e

et
P) @

Aa 3 O 2 @

R) (S)

B) 2 @ @ @
© @ @ B @
D @ @O @2 O

16



31.

32.

Match List I with List II and give
your answer using the codes given
below :

List I
(Index)
(P)
Q
(R)
(S)

Verbal Comprehension index
Working memory index
Perceptual organization index
Processing speed index

List II

(Subtest)
(1) Picture completion
(2)
(3) Information
(4) Symbol Search
Codes :

(P)

(A) (2)
(B) (2)
€ (D
D) 3)

Digit Span

(R)
3)
(1)
4) Q) @
2 QO @

Acquiring new behaviour by
observing other is known as :

(A) Modelling

(S)
(1
3)

Q)
4)
4)

(B) Vicarious learning
(C) Imagined representation

(D) External reinforcement

31.

32.

SEP - 13221/I1—A

et 1 3nfor et 11 == Siren aral. el
feetedT Fehdishr=l STANT he SOl o7 ¢

et 1

(Frdwmiar)
(P) vnfsgeh eTaciieha fasmen
(Q) FHFArS Tl Fews
(R) Gaed guea fademe
(S) wfwen Tt Frdemen

arer 11

(ST==Ivi)
1) fe=r gt
(2) 37k ehreTaH
(3) wfedt
(4) Yt MY
Hehdieh :

(P)

(A) (2)
(B) (2)
< @1 @ G @
M 3 2 @O @
SR TR0 e T T T 0]

(R)
3)
(1)

(S)
(1)
3)

Q)
4)
4)

(A) Ffa&Y STEC
(B) gfaeenfua s1ea@m
(C) wfqafasds idfraa

(D) & YoATehU]
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33.

34.

35.

36.

A person believes that she needs to
keep working at her failing business
because she has spent all her
fortune and time on it. Which of the
following describes her thinking ?

(A) Illusory correlation

(B) Sunk-cost fallacy

(C) Affective disillusionment
(D) Rationality illusion

“Intrinsic motivation theory” was

developed by :

(A) Sigmund Freud
(B) Mark and Ervin
(C) Dollard

(D) Harlow

Full form of PWD is ..................
(A) Persons with Disabilities
(B) Person with Disability

(C) People with Disability

(D) Pupil with Disabilities

The following is not an impulse
control disorder :

(A) Trichotillomania
(B) Kleptomania
(C) Enuresis

(D) Pyromania

33.

34.

35.

36.

SEP - 13221/11—A

faq fa=ar SToawr fciean SEa hEd
BIUIME TRS 3R 219 Ueh o] foaR
Hd SR faq fa=n T des anfor wfasy

el ©F Shell 3T, WeileTush] R0

foamr fag 9= g ?

(A) YEHH Fegey

(B) gfed-frma deham

(C) wmEmcHesh YH-H

(D) wfhe uH

I ofdTy Ion fagia fawfaa e
A) fame wEs

(B) W& amfor wfem

(C) Sreme
(D) @t

PWD < qU &9 &M& ?

laY (a VWY

(A) Ty fay feqsifaeiem

o aY [aVWaY

EERSICNIE

(B) WHA fay

(C) Tuuar fau fewaifeemdl

(D) Fgdta fay feqsifacieg

@it forhelt &1 STerT f=sror forpdlt ey :
(A) femifecamf=/ae=sl 3.

(B) FACHA/S IR

(C) T=pRfa/eraa gAfashd

(D) UERIAT/SEAHE

18
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37. How many people are suffering from | 37. T WUaia Aol TR TRl
significant problems at national (nﬁiﬁ g;‘@[ 34‘:[)9.|o|<||q E}ﬁ‘ \rq“\i(;j \y|l|uq|-c|q|
level that diminish the quality of T W, RO =9ifm.
their lives is indicated by : )

_ (A) @ fHeemes
(A) Happiness Index .
. (B) stedre facsmeh
(B) Depression Index ..
(C) Aggression Index (C) SThHH TR
(D) Misery Index D) g4 RENIED

38. Match List I with List IT and select | 5% ?JE? I afor =t 11 =it Tr:lﬁwﬁ . qEd
the correct answer using the codes Hehdlehl=T T sh®dd T 3 =N ¢
given below : a1
(P) Karl Lashley @ 3 . =
(Q J. B. Watson R) T
(R) McDougal ]

(S) <l
(S) Tolman a1
List II
. (1) H&STHet

(1) Instincts st
(2) Memory and brain 2) = i
(3) Purposeful and goal directed (3) T S
(4) Behaviourism (4) SeER
Codes : Hehdiah

P Q@ @R © P) @Q [® )
A 1 2 3 @ A @O 2 3 @
B) @2 @ QO @ B 2 @ @O 3
< @ 3 2 @ < @ 3 @ @
D 3 1 @ @ D Q) 1 @ @)
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39. Match List I with List II and give | 39. =t I (Unayfia fag@) a o=t II

your answer using the codes given

below :
List I
(Grounded Theory)
(P) Wuest’s Approach
(Q) Glaser’s Classical Approach
(R) Straussian Approach
(S) Charmaz’s Approach
List II
(Characteristic)

(1) Substantive and Theoretical
coding

(2) Postcolonial criticism

(3) Constructivism than discovery

for

(4) Feministic approach

Nursing

(56) Open, Axial and Theoretical
coding

Codes :

P Q@ ® ©)
@A @O @ 6 @
B @ @ G @
< G 2 @ 3
M 3 G @ @

(3feTe) == eeaull e Hehdrehm

R HEA AMF IW T
et 1
(urvefie i)

(P) gEw= gfteh
(Q) Tergr=n fusTd gfteshia
(R) WA gftesh
(S) <A gfteshA
RICU |
()
(1) gaya snfor Fgifaew dehd

(2) fedar ST IR

(3) INYMUET TEATHHAE

(4) GHad=1 SER giesmH
(5) T1, A&l enfn dgifaw o
Hehdieh :
P) Q)
A @O 3 6 @
B @ @ G 3
© & 2 @ 3
M @) G @) @)

R) (S

20



40.

41.

Test-retest reliability implies that

the test is administered on :

(A)

The same sample with a

reasonable time gap

(B) Two different samples with a

time gap

(C) Two different samples without

a time gap

(D) The same sample without a time
gap
What is/are true about the

performance type of psychological

test ?

I. Basically, it is a measure of

motor coordination.

I1.

It is a measure of cognitive

performance.

(A) I only

(B) II only

(C) I and II both

(D) Neither I nor II

40.

41.

SEP - 13221/I1—A

AT -ger=l fovad et e &=d o

=T

(A) T THAAER, RIM HAA@R el
el o1

(B) TH fRIezan T=AaR hraaa feef
(C) T FIeE TR et feet

Sl

(D) &= THATAR, IR et 3T

ARG Shell STevae Seidid hioTd]

= o N
e W] AR 7

I & 9= qod: hRe GH-EE

HYGT h{dTld.

II. &1 == Y hdrd |O|

h {dId.
(A) w1
(B) e 11
(C) <rerél 1 amfor 11
(D) I smfor II Srdt -t
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42. Match List I with List IT and select | 42. 3t 1 3nfor =€) 11 IHee Syl Al

the correct answer using the codes
given below :

List I
(Cerebrovascular disorder)
(P) Ischemia

Q)
(R)

Infarction
Hemorrhage
(S) Aneurism
List II
(Description)
(1) Rupture of blood vessel leading
to hematoma
(2) Weak artery wall leading to
ballooning
(3) Transient insufficient blood
supply
(4) Occlusion in blood flow leading
to necrosis
Codes :
P) @ @R S)
A @ @O G @
B 3 @ @O @
© @ @2 @®O O
O @O 8 @) @

9 EId Hehdlohl=AT STER W T ¢

Tt 1
(ymfiTssh Taratet o)

(P) sThfram

(Q THEHIH

(R) TR

(S) g™
et 11
(i)

(1) TkeTed= 9 o gHRM

~

(2) TEaTfE

S&THAHS R

(3) «fUreR YU IS

(4) THATTHEIONG STESY@ HATTATH S
EiGEIN

Hehdieh :
P) Q)

A 2 @O 6 @

R) (S

B 3 @ @O @
© @ @2 @O O
D 1 & @ @
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43.

44.

Which form of learning is not
immediately express in an overt
response and it occurs without
obvious reinforcement ?

(A) Latent learning

(B) Instrumental learning

(C) Observational learning

(D) Continuous learning

Read the following statements that
follow and choose the correct
sequence in which they occur :
In brain imaging using PET :

(1) Red shows highest activity,
followed by yellow, green then
blue

is

Radioactive substance

(2)
injected into blood

(3) Highly active brain areas

absorb more substance

Positrons emitted

4) by
radioactive substance are
captured by scanner

2 > @B > @ > 1)

3) > @ > 1 > (2

1) -2 > @ - 3

4) - 1) - 3) - (2

(A)
(B)
(C)
(D)

43.

44.

SEP - 13221/I1—A

o o

I Jh STEIIT oFa idishacl

dlchles TVederd &Id T8l qu7 TUs

JSCIRLUIRTE™E e ?

(A) @ TR

(B) 9YArcHsh AT

(C) Trieromeaess sregaq

(D) Tada stese

Teitd IR faem am=n st S ThHEN
FTERT HIAT S SRR d TS 3T

N IEE SHATE A wU
T gfaeaer dge=n ST ¢
(1)

AT Fald S fomametteran gifar,
mqrerre fuae, fetan 2ot fhae,
1 e T garq s fhametierd

aNes

festioeess 9Ted YegR TR e

Sl

EUSEEHEERIE G IR
feeniifaess geraigr scafed
Tifsee WhTgR Ak B

2) >3 > @ >

3) » 4) - (1) » (2

1) > 2) - @ - 3

4) > 1) - 3) > (2

2)

3)

(4)

(A)

(B)

(&)
D)
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45.

46.

A very brief memory created in a

split-second sight is called ........... .

(A) A double take

(B) Eidetic imagery

(C) Short-term memory

(D) Photographic imagery

Following are the statements of

Assertion and Reason. Answer them

with the help of the following codes :

Assertion (A) : Neurons cannot
fire during

absolute refractory

period

Reason (R) : A neuron can
release only one
neurotransmitter

Codes :

(A) Both (A) and (R) are true and

R is the correct explanation for
(A)

Both (A) and (R) are true
but (R) is not the correct

(B)

explanation for (A)
(A) is true but (R) is false
(A) is false but (R) is true

()
D)

45.

46.

SEP - 13221/11—A

TR G Tt STt TR GaT ehared
e o e S
(A) 9d <

(B) witva gfewn

(C) STeYhICH Tl

(D) s oo gfas

fagm snfor SR Aeredia eret faum
feeft 3T, wetiel HehdiehT=a STER i
B

faam (A) @ TRUe Sraftorg e
|qrasit fwamrefa g
IMehd TR

&RUT (R) : TAMUIN Thldedl TehTd
JATARTHRTET I &
ITehd.

Hehdieh :

(A) (A) 3Tfor (R) SI=1 ¥ 3f1ed 3Tfor
(R) ¥ (A) ¥ 3T TR0 3
(B) (A) 3TfoT (R) Sl A 3Ted, T

(R) T (A) ¥ 3T TI=IHI0 el
(C) (A) ® ¥ MR, 901 (R) € 3A
e
D) (A) T FFF 31, 907 (R) B F
e
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47. Which of the following alternatives

is true for the statements of
Assertion and Reasoning ?

Assertion (A): In a study, the
probability of
obtaining an

height

greater than 6 feet

average

was assigned the

same value for
samples of 1000,

100 and 10 men.

Reason (R) : Representativeness
heuristic resulting
in insensitivity
other aspects of
situation to
evaluate probability
of particular result

in a sample.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is the
explanation of (A)

(C) (A) is true, (R) is false

not correct

(D) (A) is false, (R) is true

SEP - 13221/I1—A

47. Had @Il el ShIvd faerey @t feet

faem (A) 3for SR (R) TeR 9 378 ?

faam (A) : TR A, 6 HUET

TR S 3<] U

FHITITT F 9T oAl
1000, 100 3Tfor 10

qEST=AT  AHATETST

e qod g o
3TR.

T AW e
REICIC IR

%uT (R)

HLTHTST  TIfEerd =

EL kS TR AT

STHAGAI A eI
fHetare  gfafqferca
@ Id.
Hehdich :
(A) TR (A) Ao (R) T 371ea 3A1fon
(R) T (A) & T TILHIT Y
(B) 3t (A) o1 (R) Bt 33 g
(R) T (A) o 3Tk T &N
(C) (A) & §A 318, (R) B ¥ 3Me
D) (A) & A MR, (R) § 9 M
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48.

49.

50.

51.

Triadic reciprocal determinism is
postulated by :

(A) May
(B) Bandura
(C) Rotter
(D) Skinner

An overoptimistic view and under-
estimation of time needed to
complete a task is called ............ .

(A) Procrastination
(B) Planning fallacy
(C) Over aspiration
(D) Optimism bias

Which of the following is “inferential
processes that expand knowledge in
the face of uncertainty ?”

(A) Induction
(B) Deduction
(C) Ideation

(D) Creativity

Who among the following is
considered as a founder of social
psychology ?

(A) Carl Jung

(B) William Wundt
(C) Alfred Adler
(D) Kurt Lewin

48.

49.

50.

51.

SEP - 13221/11—A
Frere arefies fafaare am fag e ¢
(A) |
(B) sgq
(C) AR
(D) f=w
STl STRTEE o S GATEIS! AR
JeTeAT JSTAT AT geAT 378
TEEae
A) feome
(B) S <ok
(C) afa e
(D) STt YeTard/shet
ST EIefteieh! R ST
gishal AM aMefad ?
(A) e
(B)
(C) heuATIHIT
(D) HSHRTEd

eiTeTeh! ShIOTTAT HIHTSTeh AT

@ v g9 food Sa ?
(A) & g

(B) fafeaw gree

(C) Uehe TSR

(D) e el
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52.

53.

54.

Adler and Horney all disagreed with
Freud over his emphasis on the

importance of :

(A) Sex and aggression
(B) Unconscious motivation
(C) Psychosexual stages
(D) Cultural influences

Which condition causes a general

loss of knowledge for all concepts ?
(A) Semantic impairment

(B) Semantic dementia

(C) Conceptual dementia

(D) Monoamine deterioration

Recurrent periods of prolonged sleep
with intervening normal sleep,
apathy, irritability, confusion,
and

delusion, hallucinations,

memory difficulties is called :
(A) Stockholm syndrome

(B) Folie a deux

(C) Klein Levine syndrome

(D) Turner syndrome

52.

53.

54.

SEP - 13221/I1—A

e Afor B & e fae o feeten

FEATA Seehiaed HqUid: STHEHA 3Ted :

(A) fam smfor sTeREwRd
(B) 3&le IO

(C) TArifTe afareen
(D) WiHfdew g9E

T HehoUATehdl e IeRoT  JHTAI
RIS R0 T FHRUAYT 3d ?
(A) IR =BE

(B) AW ATHATHAT

(C) HHoUATcHS  STTHAEh

(D) HFITHEET '™
IRIR TR T8 Sioe  ShicATaedt

ML JHE g1, Seria, faefereyo,

Tieezd SO, 9H, 9 9 WAy e
3 FAEdE

(A) iHEH FAL

(B) wicll 31 €

(C) AT AR HA0

(D) TR AT
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55.

56.

57.

58.

The innate or fixed by inheritance
tendencies to perform relatively
specific sequences of behaviour is
known as :

(A) Instinct
(B) Drive

(C) Arousal
(D) Incentives

Defining the good life in terms of
personal happiness is the general
thrust of .............. view of wellbeing.

(A) Hedonic

(B) Eudaimonic
(C) Materialistic
(D) Narscistic

When individuals engage in a full
day of activities and maintain a level
of productivity to age successful, this
theory is known as .................... .

(A) The
(B) The
(C) The
(D) The

The major purpose of indigenization
is :

disengagement theory
activity theory
acceptance theory

continuity theory

(A) To replace western knowledge
(B) To formulate Indian
Psychology

(C) To develop more culturally
grounded and locally useful

forms of knowledge
(D)

To develop administrative
system

55.

56.

57.

58.
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SuSia ferenn egafirer ffvea wot &
Hrogrd: odren fafere st feda
FHIOATAT qgatq 3TY T
(A) FESTHI

(B) w=IG

(C) SO

(D) FeAIHA

afeRTeh @A Heud AT Stere
TEAT FI0 7 LeNIiEC2Il
oMMl TEaERo W SR

(A)

(B) sTfcHeh

(C) ifden

(D) STeYE (ATrE)

Siegl ekl A1 qUifGer hlel Tohame &
EATA 30T FATTHR ScATEA T

IR TRedid desl &1 fagray
R 3leEcl S,

(A) T g

(B) fwamsttar fagia

(C) enrvig fagm

(D) e fagi
RIS & & R

(A) I I gEeifad o
(B) ARG HHERTE A Hiel
(C) = fafay Tenfre &9 wenfas

o1 IUYK St 3Tl fehfEd hao

(D) USTHehT =Ta%e faenfad ol
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59.

60.

61.

Who rejected the existence of the
soul as a metaphysical substance ?

(1) Buddhism
(2) Hinduism
(3) Sufism
Codes :

(A) (1) only
(B) (1) and (2)
(C) (2) only
(D) (1) and (3)

If (beta) is a probability of type II
error, then what is (1-beta) ?

(A) Effect-size

(B) Power

(C) Type I error

(D) Significance level

A major distinction between speed
and power test is :

(A) Power tests have more number
of items compared to a speed
test

(B) Items in speed test have less
difficulty level compared to

power test

(C) Items in power test have less
difficulty level compared to

speed test

(D) Speed test has some items
which will have higher
difficulty level compared to

power test

59.

60.

61.
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~ o o~
A I Hel-Thishal Tae
UH I T ?

(1) dfgzA

2) feégzm

(3) YwizH
Hehdieh :

(A) (1) %
(B) (1) =for (2)
(C) (2) T
(D) (1) =for (3)

SR (foer) B 9R 11 YHIE=N F9ed
e W (foar 1) & <wffaq ?

(A) TROMH TR
(B) KT

(C) hR-1 YA
(D) AU arda!

T =TEE 9 WEeE SrEa g e
EE T T

(A) 9ol STEuEEed Tl STy
S =M WY STEdTd

(B) Tt =STEOAHYS GOl Y3 ArHed
ITIUIATAI YYATI&T hHl foerse
3AHdrd

(C) 91ged FTIvATHEA YIT Tl
e YA ot 9
ST

(D) T SO 3T hTE! AT T
FEard sarEr fodasedr @rged
Traviuen iy 3T d
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62.

63.

The latest version of MMPI is based

on which construction procedure ?
(A) Criteria keyed procedure

(B) Factor analytical procedure
(C) Theory related procedure

(D) Projective technique procedure

Match the Column I with Column II
by using the codes given below :

Column 1
(Features)

(P) Measure of knowledge in school

subjects
Q)
(R)
S)

Assessment of Ego strength
Measure of unconscious conflict
Measure of career inclination

Column II

(Tests)

(1)
(2)
3)
(4)
Codes :

(P)
(A) (2)
(B) 3)
© @
D) 4)

Projective test
Interest inventory
Achievement test

Personality test

R) (S)
4)
1 @)
3 @
2 @

Q)
3)
(4)
(2)
(1)

62.

63.
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MMPI a1 =I=O TTHI0T hioTe

T SR el 3R 2

(A) THeroehel T

(B) W< favoioor ggd
(C) Hgifas YR dgd
(D) &I 97 YGd

@il HehdlehT=al AR &Y 1 1o
WY 11 Imed SIed e

wWy 1
(afyre=))
(P) vme fosameter I@mM A
(Q) 3 wmed Ao
(R) 3Telig Hooi= 9
S)

ST AT |
w11
(=r=rvE)

T T

=t =Teron

(3) HuweA ==

(4) fsqaa ==t

Hehdieh :

P)

(A) (2)

(B) 3)

©) @)

D) 4)

(1)
(2)

(S)
(1)
(2)
(4)
3)

@ @)
3 @
4) (@
2 @
1 @)
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64.

65.

66.

67.

When a line disappears at an angle
behind a solid figure and reappears
at the other side. This phenomenon
is called as ........ccceeeeennnne. .

(A) Muller-Lyer Illusion
(B) Poggendrof Illusion
(C) Schiffman Illusion
(D) Bend Illusion

Which of the following is not a
neurotransmitter ?

(A) Acetylcholine
(B) Serotonin
(C) Dopamine
(D) Prolactin

memory is ‘as a limited
capacity temporary storage system
that underpins complex human
thought’.

(A) Working
(B) Short-term
(C) Long-term
(D) Iconic

One can study a living brain using :

(1) Ablation and lesioning
(2) FMRI

3) CT

(4) Stereotaxic procedures
Codes :

(A) (2) and (3) only

(B) (2), (3) and (4) only
(C) (1), (3) and (4) only
D) (1), (2) (3) and (4)

64.

65.

66.

67.
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SfegT o1 ¥ 3T =AT HEiTel AT AL
qaa efor = g aeE = feg
CIRTATd. el a1 o&=g 379 TEUTdTd.

(A) eR-ST™R 91

(B) dFET® oA

(C) hHIwHT 9|

(D) 9sh ¥H

ETATTdeh!l ShIvTAl Saraiseh A&t ?
(A) THfTRIAH

(B) SR

(C) S

(D) Yrefferd

Tyt & waifed e sTeerh
A SHaET STt AR oA He TR
FHRUTYd 3.

(A) PMHHATS

(B) STCThTA

(C) <rHehI™

(D) wfam

e #g AHUIEE Teld Jgdrdl
TERT 3TN & ekl

(1) Sweed o gerdd (SReH)

(2) TH TH IR .

(3) =t 2.

(4) wiasn i@ gsdt

.

(A) (2) 9 (3) B

(B) (2), (3) 9 (4) ®ed

(C©) (1), (3) 9 (4) w

D) (1), (2) (3) T (4)
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68.

69.

70.

Myelin sheaths are mostly made up

of :

(A) Protein

(B) Lipids

(C) Nutritive fluid
(D) Bone

When a person changes his cultural

identity, he/she is known as ........ .
(A) Foreigner
(B) Stranger
(C) Migrated
(D) Outsider

Which among the following is not

a form of social influence ?
(A) Compliance
(B) Conformity
(C) Dominance

(D) Obedience

68.

69.

70.

SEP - 13221/11—A

AR SR TEAREET AR S
(A) 9RH

(B) fafte

(C) dIveh 5d

(D) =€

Seg] AT ST Hehideh 3ot/ dadhal

dgold, degl el 3T HWelUdd ¢
(A) TREIRY

(B) 3Treswll

(C) <umadia

(D) ST&THT/TThT

GTATCTIh T ShITTT TTHTRSTeR FHTET=l JhR

@ ?

(A) G/ TTA
(B) ST
(C) T

(D) AR
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71. Match List-I with List-II and give | 71. 3cl I 3701 It IT =41 SISl al. ©ITeil
your answer using the codes given feeTedT GahdareeTdl ST e 3uT o ¢
below : DIl |

List I (Hlﬁn_eﬁ forrm)
(I.Jogi(?al Rule) (P) W
@ Digoneive rale @ fon oo
(R) Conditional rule ®) S T
(S) Biconditional rule (8) w¥q Fm
List II RLCUR
(Logical Relation) (mﬁ"_"ﬁ Hafer)
(1) AND (1) eufor
(2) If and only if, THEN (2) SR 0T e SR, deal
(8) IF.n. THEN (3) e
(4) OR 4) fepan
Codes : Hehdich :
P) @ [®) (5 P) Q [®R) (5
A 2 @ G @ A 2 @ 3 @
B @ @ @O 3 B) 2 @ QO O
© 1 @ 3 @ < GO @ 3 @
D 3 @ @O @ M & @ 1 @
72. One of the lacuna with both | 72. HARIfTe 0T AHeaER! fagams) T
Psychoanalytic and humanistic Ug=] HHIAl & 3@ ki oId
theories is 1.:ha’.c they': (A) AR . . -
(A) Lack insight into human
personality ST =S

(B) Are too comprehensive (B) ©U STkl A

(C) Are difficult to test and have (C) HIIT 0T HA0 3TTe ST TN
inadequate research support 3TER T e

D) Assume th hildh i

> irrsli:(l)rt(:lnt ?:1 cdet(:rr(r)l(i)gin; (D) AR FAHRT FIA e
personality HEwaTd 3l 19 TEid ol Sid
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73.

74.

75.

Cognitive dissonance can be reduced
with :

(A) Consistence in thinking
(B) Ignore conflict
(C) Consistence in behaviour

(D) Response based on experience

explains the prosocial
behaviour is motivated by the desire
to reduce uncomfortable negative
feelings of self.

(A) Empathic joy hypothesis

(B) Altruism hypothesis

(C) Empathy-Altruism hypothesis
(D) Negative state relief model

Sternberg distinguished among
three kinds of components used in
reasoning; they are :

(A) Performance, metacomponents,
knowledge acquisition

components

(B) Performance, metacomponents,

knowledge derived components

(C) Action, cognitive, behaviour

components

(D)

Performance—-intensive,
metaphysical, knowledge

acquisition components

73.

74.

75.

SEP - 13221/11—A
Serfeh fordans & ArTH et s Adl
(A) foemrda gemr
(B) wEtihe g
(C) =il G
(D) STHeTeR M Hfcfsha/Tfshan

THRIUCHE T [Faal YT€T 3

[UEITYHE 9d9 T HLd Hhi S
SRS ThRIcHS el 3o
FH I

(A) Tegyfas e g

(B) wfede AT

(C) TEIYH-Tfedah TR
(D) ThRIcHh STl Joaal &y

FRTARHE AT W FehRT=AT Seahi

s e foet, d BN

(A) fed, Aermes, IF 9ufca u<s

(B) Tadda, Hereesh, JF @ifvd s
(C) FHelt, SeTcHSRdT, a4 HHh

o

(D) fred-daaR, daaHiaSaeh, =

quifed ok
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76.

77.

78.

79.

Thinking or behaving in a way that
is extreme opposite of unacceptable
inner urges or impulses is known as :

(A) Projection

(B) Denial

(C) Reaction formation
(D) Regression

When development starts from head
to foot along the length of the body.
This direction of development is
called .......ccouvvveeeeeee. .

(A) Proximodistal trend
(B) Cephalocaudal trend
(C) Maturation trend
(D) Dynamic trend

When values, beliefs, norms and
traditions are shared by a large
group of persons, it is known as ..... .

(A) Social Norms
(B) Cultural Norms
(C) Attitudes

(D) Behaviour

When children no longer view rules
as fixed but see them as flexible,
socially agree-on principles that can
be revised to suit the will of
the majority. This principle is
calleld .......cccceeennnens .

(A) Heteronomous morality
(B) Realistic morality

(C) Autonomous morality
(D) Moral Judgment

76.

77.

78.

79.

SEP - 13221/11—A
foam 21ean adq SIS Y0 i o

FAETRNRE AT o1 o STE=A

aTifaer faRielt 18 g 319 WU :
(A) g&9o

(B) TR

(C) gfdfsran =reu

(D) dfdTHA

Sieg] TorehT 31 SR o TrTaia ST
I A6l 98 el deel faehrren a1
L N PN 31@. .

(A) FHUd wd
(B) IM¥-T=8 &al
(C) uRyeradr &l
(D) T &

Siegl qod, #gl, e ot 9Xqu ==
Siegl Higdl FHENid, kil faur
Bdeied] STEAI degl el
SesErel S,

~

INIGUSEIREEY

faS

[Hen®

(B) WEhideh
(C) fai
(D) &

Seg ga frem € fer 7 urean daeis

U TTedTd, SIS eAredrs aw o
THRfad o9d 9 3 dIgHeA Al
5-0291{‘\14 \5‘|Hd -qT dTOHQ"“ ................
FBUTdId.

(A) i

(B) om<faeh
(C) T@raa Afdehan
(D) Sfqew fAoig
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80.

81.

Match Column I with Column II by
using the meaning and concepts
given below :

Column I
(Meaning)
(P)

Positive outcomes arising from
traumatic experiences

Q)

Repeated relieving of traumatic
event in memory intrusive
thoughts, feelings and reduced
responsiveness

(R) Measuring 24 strength of

character

(S)

A measure of positive and
negative emotions

Column II
(Cncepts)
VIA
PTG
(3) PANAS
(4) PTSD
Codes :
(P)
(A) (2)
(B) 2)
©) @)

(1)
2)

(R)
(1)
3)

(S)
3)
@))
(2)
3)
is
Normal

Q)
(4)
4)
3 @
M @ @O @)

Which Asana
maintaining
pressure ?

(A) Shavasana
(B) Padmasana
(C) Sheershasana
(D) Shalabhasana

helpful in
blood

SEP - 13221/11—A

80. WY I 3mfor Wy II IHefier a1ef afor

81.

TehoUqT=] SUAN e Siedl ol
w1
(31ef)

SATIATASTT AT HATGT HhTTcHSD

froust feior g

it STRd o= Ifor o7 PG|
ATAST SIS qARTafd
IS

24 IR WA HIOA

HhRIcHE AT ThRIcHSR TS
HIYT

P)

Q)

(R)
(S)

Wy 11
(Tehed )
(1) =& ™. T
(2) d. 2.
(3) . w
4) . 3L
Hehdieh :
(P)
(A) (2)
(B) (2)
© 1 B @ @
D) @) @O @) 3

T8 H Feerdia Tevar st shivrd
A ST A ?

(A) ITETEA
(B) dgHEHA
(OB ULIEE

(D) IrA|TEA

S
™ T
TH. Bl

R)
(1)
3)

(S)
3)
(1)

Q
(4)
(4)
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82.

83.

84.

What does the term “ontology” refer
to ?

(A) The nature of social entities
(B) The study of cancer

(C) The study of the onto tribe
(D) The research into ontogeny

Which of the following theorists
would most agree with the belief
that knowledge resides in the mind
of the individual ?

(A) a behaviourist
(B) a radical constructivist
(C) a situated constructivist
(D) a socioculturist

In one-way ANOVA repeated
measures design in three treatment

conditions 15 participants

participated in the experiment.
What would be the degrees of

freedom for the residual term ?
(A) 13
(B) 45
(C) 42

(D) 28

82.

83.

84.

SEP - 13221/I1—A

‘o Gt e’ & Ul H3ed Heuid
Al S ?

(A) IS Seehr= Afe™ WEY
(B) Heh T 19T

(C) et Slesam=n 319y

(D) AMaTAT Hfaaid faeerarar sfae™

WA TeAdeh I fogid, SR A/

T HISaciel 3TEd ST 9ROM - Sl ?
(A) e

(B) ¥qUul ®r Wedh

(C) ¥TH1f1a w1 Hadieh

(D) | AR {deh HTeh™ 31T

Teh JANT UehfQeia qAHigs 3Trer
TS JEU FEHTTeReR e S,
W eregsta ferdame! gadt THvEE
et st@a ?

(A) 13

(B) 45

(C) 42

D) 28
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Q. No. 85 - 89 are based on the
following paragraph. Read the
following paragraph and answer the
five questions that follow :

85.

86.

A researcher collected the data on
logical reasoning and spatial
reasoning from 200 students (equal
number of boys and girls) of
engineering college covering the
specializations of civil and computer
engineering by using a stratified
sampling method. Information about
students marks in the semester-end
examination and information about
the parents’ annual income was also
collected (both the variables were
measured on a continuum).

What is the primary design of the
study ?

(A)

Independent between groups’
design

(B)
(&)
D)

Dependent groups design
2x2 factorial design

Successive independent

samples design

Which of the following could be
treated as IV/s in the study if scores
on logical reasoning are to be
treated as outcome variable ?

(I) Gender
(I) Engineering specialization

(IIHDMarks in
examination

(A) (D only

(B) (II) only

(C) (I) and (II) only
(D) (II) and (III) only

semester-end

SEP - 13221/11—A

U9 hHTeh 85 d 89 WIeld UR=3aray

IMRA AR, Vel URwsg argd Ue
feeear arer gyt W) e

85.

86.

g™ TR merfaarerarda
A 30 G0 A1 fae@m=n 200
TormeAt=n (Fet STt Jeft THH) THRR
IHAT TFATET T FEA AR
foamemar sfor steekmefia foameamar
AR YT el hel. a1 Fioad TeNeeh
foremeat=an T3 T&= 07 o TR
oiftrer Seq=rel AIfEdt Tl ehedl.

(=T IRadenT™ e HHTeR ATIH hel)
ST WTUfHeh STRES] Shiv TR 2

(A) @A T STNEET

(B) a3 TE STRIEEI

(C) 2x2 TTHT ANEET

(D) STIad woad THAT ANEE]

SR difher fammeman 71 afome aReds
TUA U WA ST W Eeierdeh]
HIUTT/hI0Td gREde/aReds & @
qftedes WUE T S ?

) fem

(I1) sttt faersieR o

(III)F=ra qierdte ot

(A) () &

(B) (II) e

(C) (D) smfor (I1) e

(D) (1) Ao (II1) e
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87.

88.

89.

If a researcher was interested in
predicting the marks in semester-
end examination of civil engineering
students only, then which of the
following could be treated as
predictor variables ?

(I) Engineering specialization
(IT) Scores on logical reasoning
(ITI) Scores on spatial reasoning
(IV) Parents’ annual income
Codes :

(A) (I) and (II) only

(B) (I) and (III) only

(C) (II) and (IIT) only

(D) (ID), (III) and (IV) only

How many interactions effects could
be studied in this case ?

(A) None
(B) One
(C) Two
(D) Three

If researcher has followed equal-size
stratified sampling procedure, then
how many females from the
computer specialization are included
in the study ?

(A) 100
(B) 200
(C) 150
(D) 50

87.

88.

89.

SEP - 13221/I1—A

ST HYNGehTC T AR Wi
HAT FHEATA IO JAIAH e 3

W @Teiierdep! o ufieade/qfeds §

qeehed qfitaden/qfiads U T
e ?

1) SAfifreRT fagieto

(II) dfeher fommera=r o

(I1I) sTaahreia foemermas o

(IV) It afeieh Sca=

Hehdieh :

(A) (I) emfor (II) e

(B) (I) swfor (III) e

(C) (II) =ufor (III) e

(D) D), (III) 3o (IV) e

2 e PR B o CE A 2 R TR R
FA el Sed 7

(A) THE TR

(B) T

(C) 31

D) T

S RN HHM-STHR TR AT
qge 3Taels shedl, T8 TR YIRETe
fohcll Afect=n THEEY A1 AT Sl
EA ?

(A) 100

(B) 200

(C) 150

D) 50
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90.

91.

92.

93.

Cross validation of the test implies

that :

(A) Item analysis is performed on
the same sample twice

(B) Test validity is studied on a
different sample

(C) Items with similar difficulty
level are deleted from the test

(D) Different
discrimination are compared
with each other

The switchboard of information in

indices of item

the human brain, connecting cortex
and subcortical areas is :

(A) Pons

(B) Hippocampus

(C) Basal ganglia

(D) Thalamus

Norman and Shallice SAS theory
stands for :

(A) Superficial Attention State
(B) Supervisory Attentional System
(C) Scheduling Action Schemata
(D) Schemata Action System

In Sander’s Model of Energetic
Mechanism, which three sequential
different energetical mechanism he
proposed :

(A) Arousal-Activation—Effort

(B) Effort—Activation—Arousal

(C) Activation—Arousal-Effort

(D) Arousal-Effort—Activation

90.

91.

92.

93.

SEP - 13221/11—A

o

i fqde Jedieo § gafad

(A)

ThT HHE=AT gexral faem
fageroor el Sd S

AT dear gE-AT YR
FAGA ST

THE HIfSUd Hod AGU faem
ST STesdTd

faum Sefraenaa fafay fere=
g shefl S

9 GAFETSRAT SIed, of & B

(A)

(B) 3Teeri

(C) a1 Tifgan

(D) =TETeh

-Vl ei= TH. T T Ul
‘1%'01@[ :

(A) grfwiiee sidvd we

(B) gmamel seyma fafen

(C) USFfAT R ThiHMwEI

(D) e tRE fafeq

TS IHE! I TEITHR T 107
fafay d= wivew IR JIEy gafaa

Aea ?

(A) SR A-ATAA-9AH

(B)

(&)

(D)

(B) FIA-HATAAT-SIT&hdl

(C) =T I-SITeshdl-9d]

(D) SR dl-FIA—TeT 1
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94.

95.

Collectivistically oriented groups
show :

(A) Higher preference to abide by

norms and social traditions

(B) Prefer formal modes of dispute

regulation

(C) More emphasis on individual

rights and freedom
(D)

Presumed individualistic
orientation

Match Column I with Column II by
using the codes given below :

Column I
(Attitude Scale)
(P) Equal Appearing Interval Scale
Q)
(R)

(S)

Social Distance Scale
Scalogram Analysis
Semantic Differential Scale

Column II

(Author)

(1) Osgood et. al
(2)
3)
4)
Codes :

(P)
(A) 3)
(B) 4)
€ @
D) 3)

Thurstone
Bogardus

Guttman

(R)
(2)
3)
(4)
(4)

(S)
(1)
(1)
(1)
2)

Q)
(4)
(2)
3)
(1)

SEP - 13221/I1—A

94, WMfedh ™ e ¥ aad WA

95.

(A) G oI TGdTgHT0] SRTar=it
Eill

(B) Yieol Hrequar=ar q=iish AT

RESKl

(C) HfFETHER o BFhiol

(D) fadehfsd gl TRId &Xo

el feoiedr dahdihren SR WY 1
sfor Wy II Il Siedn o ¢
Ll |
(sferaret
(P) St aifustfin etesa ot
Q) In fewd whd
(R) o\ fagerom
(S) Tifesh fewmifera Soft
w10
(vTIeh)
(1) 3METS 9 s
2) &%
(3) armeq

(4) T
Hehdieh :
(P)
A) (3
(B) (4)
©) 2
D) (3)

(R)
(2)
3)
(4)
4)

(S)
(1)
(1)
(1)
(2)

Q
4)
(2)
3)
(1)
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96.

97.

98.

Which of the following is not an

element of social identity theory ?
(A) Social categorization

(B) Social dissonance

(C) Social identification

(D) Social comparison

When infant has a need to form a
close association with one significant
person, this phenomenon is called

AS eevreenreneeeneeees .
(A) Monotrophy

(B) Attachment

(C) Strange situation
(D) Multiple attachment

In Social Psychological terms,

Discrimination refers to ............ .
(A) Attitude

(B) Prejudice

(C) Group pressure

(D) Disadvantage

96.

97.

98.

SEP - 13221/I1—A
WITeATTdshT HITAT HIHTTSS  deohd]
fagiam=n v AEr ?

(A) TSR SR L0l

(B) gmIfsier fadene

(C) HHISTR dIGTHIh L]

(D) HATSTh et

Stegl STefehTell TEed Hetamal SHaie
S Hiedd A0 Hvare TS 37,
S ——— QT
(A) T

(B) Hera

(C) fafes afkfeerdt

(D) gfay Fera

TTHISTeh AFELET= §39ed, S
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99.

Match the following types of children

List I with Temperamental
Characteristics List 1T :

List I
(Types of Children)
(P) The easy child
(Q) The difficult child
(R) The slow-to-warm-up child
(S) The adaptive child
List 1I

(Temperamental Characteristics)

100.

(1)

Inactive, slow reactions to
environment, negative mood

(2)

Establish regular routine,
cheerful, easily adapt new
experience

3)

Irregular daily routine, slow to
new experience, react
negatively and intensively

(4)

Adapt with environment,
sleeping or eating in a new place

Codes :
P)
(A) (2)
(B) (1)
< 3 O 2 @
D @ 2 @O 3
Sexual attack is .................... .
(A) Social Violence

(B) Domestic Violence

(R)
(1)
3)

(S)
(4)
(2)

Q
3)
(4)

(C) Criminal Violence

(D) Communal Violence

SEP - 13221/I1—A

99. ART I (HaT= Y&R) d ART II

100.

(Turerdfirsd) ez et faeten

TehdlehTdial STl A
arar 1
(D UahR)
(P) &S sieleh
(Q) I HTeAh
(R) 99 O SRl deieh
(S) wfaarsia sereh
Tret 11
(FuTafiTeR)

=, wateRomelt eTe9 widfswan,
THNHE  1a

TegTua faftaa e Jresdm,

TFET, I el TS el TR

Afafa Sl frers, 76 ergva
Tl BT, FhRICHeh ST SAT9h

ST S[e3elA BdTd, el Sl
TESIU Siaard d St Siara

i
P)
(A) (2)
B) D
< 3 @O @)
D @ @2 @)
AR Boell WU
(A) gfser féam
(B) =t f&en
(C) = &
(D) wrETe fean

(1)

(2)

3)

(4)

(R)
(1)
3)

(S)
4)
(2)
(4)
3)

Q
3)
4)
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